	1										
PROJECT:	Kuhio Highway Resurfacing, Kahiliholo Road to Ka Haku Road										
PROJECT NO.:	STP-056-1(064)										
NET LENGTH: ISLAND: DISTRICT: TYPE CODE:	Kauai Hanalei			Hi'ilawe Construction, LLC		Jas W. Glover, LTD.		Grace Pacific LLC		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
DATE ADVERTISED: BID OPENED:	July 28, 2022 August 25, 2022										
COMPLETION TIME:	One Hundred (120) Working Days	155500									
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
209.0100	Installation, Maintenance, Monitoring and Removal of BMP	LS	LS	LS	\$31,328.97	LS	\$100,000.00	LS	\$82,550.00	LS	\$100,000.00
209.0200	Additional Water Pollution, Dust and Erosion Control	FA	FA	FA	\$100,000.00	FA	\$100,000.00	FA	\$100,000.00	FA	\$100,000.00
401.0410	PMA Pavement Mix No. IV (PG 64E-22)	TN	TN	\$245.19	\$3,457,179.00	\$315.00	\$4,441,500.00	\$375.00	\$5,287,500.00	\$350.00	\$4,935,000.00
401.9000	Pavement Smoothness Incentive	Allow	Allow	Allow	\$3,000.00	Allow	\$3,000.00	Allow	\$3,000.00	Allow	\$3,000.00
414.0110	Excavation of Weakened Pavement Areas	2300	CY	\$323.38	\$743,774.00	\$155.00	\$356,500.00	\$128.00	\$294,400.00	\$140.00	\$322,000.00
415.0110	Cold Planing of Existing Pavement	77000	SY	\$10.28	\$791,560.00	\$10.00	\$770,000.00	\$10.25	\$789,250.00	\$10.00	\$770,000.00
603.0100	Clean Existing Culverts	1	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00
615.0100	16-Inch Milled Rumble Strip, Centerline	12000	LF	\$1.60	\$19,200.00	\$5.00	\$60,000.00	\$1.01	\$12,120.00	\$2.50	\$30,000.00
615.0110	12-Inch Milled Rumble Strip, Edgeline	18900	LF	\$1.96	\$37,044.00	\$4.00	\$75,600.00	\$1.50	\$28,350.00	\$2.50	\$47,250.00
629.1000	4-Inch Pavement Striping (Tape, Type I or Thermoplastic) Extrusion)	2600	LF	\$2.30	\$5,980.00	\$2.00	\$5,200.00	\$1.90	\$4,940.00	\$5.00	\$13,000.00
629.1004	4-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	4600	LF	\$2.43	\$11,178.00	\$2.00	\$9,200.00	\$2.00	\$9,200.00	\$5.00	\$23,000.00
629.1008	4-Inch Pavement Striping (Profiled Thermolastic)	1400	LF	\$1.25	\$1,750.00	\$1.00	\$1,400.00	\$0.70	\$980.00	\$15.00	\$21,000.00
629.1010	Double 4-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion)	2400	LF	\$2.99	\$7,176.00	\$2.50	\$6,000.00	\$2.50	\$6,000.00	\$8.00	\$19,200.00
629.1012	Double 4-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)	14000	LF	\$3.40	\$47,600.00	\$3.00	\$42,000.00	\$3.00	\$42,000.00	\$8.00	\$112,000.00
629.1016	Double 4-Inch Pavement Striping (Thermoplastic Hot Spray)	14000	LF	\$3.40	\$41,480.00	\$3.00	\$36,600.00	\$3.00	\$36,600.00	\$8.00	\$97,600.00
629.1022	6-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion	16000	LF	\$2.75	\$44,000.00	\$2.50	\$40,000.00	\$2.25	\$36,000.00	\$9.00	\$144,000.00
629.1026	6-Inch Pavement Striping (Thermoplastic Hot Spray)	19300	LF	\$3.05	\$58,865.00	\$2.50	\$48,250.00	\$2.60	\$50,180.00	\$5.00	\$96,500.00
629.1030	8-Inch Pavement Striping (Tape, Type I or Thermoplastic Extrusion	2460	LF	\$2.39	\$5,879.40	\$2.00	\$4,920.00	\$2.00	\$4,920.00	\$6.00	\$14,760.00

Sheet No. 1 of 4 Sheets

PROJECT:	Kuhio Highway Resurfacing, Kahiliholo Road to Ka Haku Road										
PROJECT NO.:	STP-056-1(064)										
NET LENGTH: ISLAND: DISTRICT: TYPE CODE:	Kauai Hanalei			Hi'ilawe Construction, LLC		Jas W. Glover, LTD.		Grace Pacific LLC		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
DATE ADVERTISED: BID OPENED:	July 28, 2022 August 25, 2022										
COMPLETION TIME:	One Hundred (120) Working Days	ADDDOV									
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
629.1032	8-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusio	5700	LF	\$3.75	\$21,375.00	\$3.50	\$19,950.00	\$3.50	\$19,950.00	\$6.00	\$34,200.00
629.1052	12-Inch Pavement Striping (Tape, Type II or Thermoplastic Extrusion)	3000	LF	\$6.07	\$18,210.00	\$5.50	\$16,500.00	\$6.00	\$18,000.00	\$12.00	\$36,000.00
629.1054	12-Inch Pavement Striping (Tape, Type III or Thermoplastic Extrusion)	400	LF	\$4.30	\$1,720.00	\$4.00	\$1,600.00	\$4.00	\$1,600.00	\$12.00	\$4,800.00
629.1100	Pavement Word (Tape, Type III or Thermoplastic Extrusion)	36	EA	\$360.65	\$12,983.40	\$400.00	\$14,400.00	\$387.00	\$13,932.00	\$650.00	\$23,400.00
629.1110	Pavement Arrow (Tape, Type III or Thermoplastic Extrusion)	64	EA	\$400.65	\$25,641.60	\$450.00	\$28,800.00	\$431.00	\$27,584.00	\$500.00	\$32,000.00
629.1130	Yield Line (Tape, Type III or Thermoplastic Extrusion)	9	LN	\$635.65	\$5,720.85	\$650.00	\$5,850.00	\$683.00	\$6,147.00	\$700.00	\$6,300.00
629.2020	Type C Pavement Marker	2900	EA	\$3.35	\$9,715.00	\$3.00	\$8,700.00	\$3.00	\$8,700.00	\$6.50	\$18,850.00
629.2030	Type D Pavement Marker	3000	EA	\$3.31	\$9,930.00	\$3.00	\$9,000.00	\$3.00	\$9,000.00	\$6.50	\$19,500.00
629.2040	Type F Pavement Marker	2	EA	\$3.35	\$6.70	\$3.00	\$6.00	\$3.00	\$6.00	\$6.50	\$13.00
629.2050	Type H Pavement Marker	3060	EA	\$3.29	\$10,067.40	\$3.00	\$9,180.00	\$3.00	\$9,180.00	\$6.50	\$19,890.00
630.1100	Panel for Destination Sign (Flat Panel)	58	SF	\$423.16	\$24,543.28	\$125.00	\$7,250.00	\$131.00	\$7,598.00	\$100.00	\$5,800.00
630.1200	Type B Ruote Marker Assembly	1	EA	\$2,727.04	\$2,727.04	\$2,000.00	\$2,000.00	\$2,100.00	\$2,100.00	\$3,000.00	\$3,000.00
630.1300	Street Name Sign	6	EA	\$909.01	\$5,454.06	\$300.00	\$1,800.00	\$307.00	\$1,842.00	\$500.00	\$3,000.00
630.1610	4.00 lbs/ft. Flanged Channel Post for Destination Sign	11	EA	\$495.83	\$5,454.13	\$500.00	\$5,500.00	\$506.00	\$5,566.00	\$350.00	\$3,850.00
631.0100	Regulatory Sign (10 Sq. Ft. or Less) with Post	42	EA	\$584.37	\$24,543.54	\$650.00	\$27,300.00	\$694.00	\$29,148.00	\$550.00	\$23,100.00
631.0120	Regulatory Sign (More Than 10 Sq. Ft.) with Posts	19	EA	\$861.17	\$16,362.23	\$1,200.00	\$22,800.00	\$1,180.00	\$22,420.00	\$900.00	\$17,100.00
631.0200	Warning Sign (10 Sq. Ft. or Less) with Post	47	EA	\$464.18	\$21,816.46	\$650.00	\$30,550.00	\$694.00	\$32,618.00	\$550.00	\$25,850.00
631.0210	Warning Sign (10 Sq. Ft. or Less) without Post	19	EA	\$861.17	\$16,362.23	\$300.00	\$5,700.00	\$296.00	\$5,624.00	\$350.00	\$6,650.00
631.0220	Warning Sign (More Than 10 Sq. Ft.) with Posts	2	EA	\$1,363.52	\$2,727.04	\$1,250.00	\$2,500.00	\$1,320.00	\$2,640.00	\$1,100.00	\$2,200.00
										Shoot No. 2 of 4	

Sheet No. 2 of 4 Sheets

PROJECT:	Kuhio Highway Resurfacing, Kahiliholo Road to Ka Haku Road										
PROJECT NO.:	STP-056-1(064)	<u> </u>									
NET LENGTH: ISLAND: DISTRICT: TYPE CODE:	Kauai Hanalei			Hi'ilawe Construction, LLC		Jas W. Glover, LTD.		Grace Pacific LLC		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
DATE ADVERTISED: BID OPENED:	July 28, 2022 August 25, 2022										
COMPLETION TIME:	One Hundred (120) Working Days	ABBBOY									
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
631.0300	Miscellaneous Sign with Post	3	EA	\$1,818.03	\$5,454.09	\$950.00	\$2,850.00	\$969.00	\$2,907.00	\$800.00	\$2,400.00
631.0400	Supplemental Plaque	12	EA	\$681.76	\$8,181.12	\$300.00	\$3,600.00	\$296.00	\$3,552.00	\$300.00	\$3,600.00
631.0600	Information Sign with Post	2	EA	\$2,727.04	\$5,454.08	\$950.00	\$1,900.00	\$969.00	\$1,938.00	\$550.00	\$1,100.00
631.1000	Relocation of Existing Sign and Post	1	EA	\$5,454.09	\$5,454.09	\$550.00	\$550.00	\$538.00	\$538.00	\$300.00	\$300.00
632.0500	Mile Post Marker with Post (Bi-Directional)	9	EA	\$6,060.10	\$54,540.90	\$550.00	\$4,950.00	\$565.00	\$5,085.00	\$500.00	\$4,500.00
632.0120	Reflector Marker (RM-3) with Steel Post	110	EA	\$198.33	\$21,816.30	\$250.00	\$27,500.00	\$253.00	\$27,830.00	\$150.00	\$16,500.00
632.0122	Reflector Marker (RM-3) with Felxible Delineator	53	EA	\$102.91	\$5,454.23	\$250.00	\$13,250.00	\$565.00	\$29,945.00	\$150.00	\$7,950.00
632.0123	Reflector Marker (RM-3) with Metal Bracket	16	EA	\$170.44	\$2,727.04	\$550.00	\$8,800.00	\$565.00	\$9,040.00	\$300.00	\$4,800.00
632.1010	Type II Object Marker (OM2-2H)	50	EA	\$327.25	\$16,362.50	\$100.00	\$5,000.00	\$80.70	\$4,035.00	\$60.00	\$3,000.00
632.1020	Type II Object Marker (OM2-2V)	12	EA	\$454.51	\$5,454.12	\$50.00	\$600.00	\$45.00	\$540.00	\$60.00	\$720.00
632.1030	Type III Object Marker (OM3-1)	8	EA	\$340.88	\$2,727.04	\$450.00	\$3,600.00	\$431.00	\$3,448.00	\$250.00	\$2,000.00
632.1050	Type V Object Marker (OM-5)	150	EA	\$127.26	\$19,089.00	\$250.00	\$37,500.00	\$226.00	\$33,900.00	\$500.00	\$75,000.00
636.1000	Adiitional E-Construction Programs, Additional Licenses or Additional Equipment	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
643.0110	Maintenance of Existing Landscape Areas	FA	FA	FA	\$50,000.00	FA	\$50,000.00	FA	\$50,000.00	FA	\$50,000.00
645.1000	Traffic Control	LS	LS	LS	\$214,551.37	LS	\$600,344.00	LS	\$741,200.00	LS	\$100,000.00
645.2000	Additional Police Officers, Additional Traffic Control Devices	FA	FA	FA	\$100,000.00	FA	\$100,000.00	FA	\$100,000.00	FA	\$100,000.00
648.1000	Field Posted Drawings	LS	LS	LS	\$2,000.00	LS	\$2,000.00	LS	\$2,690.00	LS	\$2,000.00
671.1000	Protection of Threatened and Endangered Species	FA	FA	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000.00
L		1		<u> </u>						Chaot No. 2 of 4	

Sheet No. 3 of 4 Sheets

	TABULATION OF BIDS	_									
PROJECT:	Kuhio Highway Resurfacing, Kahiliholo Road to Ka Haku Road										
PROJECT NO.:	STP-056-1(064)	_									
NET LENGTH: ISLAND:				Hi'ilawe Con	struction, LLC	Jas W. Glover, LTD.		Grace Pacific LLC		STATE OF HAWAII DEPARTMENT OF	
DISTRICT: TYPE CODE:	Hanalei				,					TRANSPO	ORTATION S DIVISION
DATE ADVERTISED:											
	August 25, 2022										
COMPLETION TIME:	One Hundred (120) Working Days										
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
699.1000	Mobilization (Not to Exceed 6% of the Sum of All Items Excluding the Bid Price of This Item)	LS	LS	LS	\$367,226.93	LS	\$400,000.00	LS	\$450,000.00	LS	\$451,060.98
	A. Sum of All Items				\$6,588,847.14		\$7,642,000.00		\$8,538,293.00		\$8,018,743.98
	B. Either Furnish Foreign Steel Not to Exceed Minimal Amount (F	-ill in '0') or			\$0.00		\$0.00		\$0.00		\$0.00
	Furnish Foreign Steel in Excess of Minimal Amount (Fill in 25%										
	C. Amount for Comparison of Bids (A + B)		\$6,588,847.14		\$7,642,000.00		\$8,538,293.00		\$8,018,743.98		
	I certify that this is a true and correct tabulation of bids for this pro	iect									
	if certify that this is a true and correct tabulation of blus for this pro										
	Ene Zyl										
	Eric Fujikawa, Project Manager										
								Sheet No. 4 of 4	Sheets		